QUESTION 1:(13 marks)
RandWick Girls High School 2) Evaluate:
i) log,81 v (1)
NAME:- 16e.(L
ii) Ogs(g) 0
CLASS:- i ‘ b) Given that log 2 = 0.86 and log b = 0.42, find the values of .
. i : , ' _ L logtd '
2006 HSC Assessment | | ) | oo | . @
Year 12 Mathematics - N ., @
‘ ' c) Différentiate, with respect to x:
TaSk 2 1) J}_=e24v+1 ‘ : (1)
Time Allowed: 1 Hour 4 ‘
* Start ééch question on a new page. . C . i) y =e? ‘ , @
* Label question parts clearly. ' U :
* Attempt all questions, { |
* .Approved calculators may be used. : 1 , y=lnx ‘
\ , ,_ iif) x A : @)
| Question | | Marks ] 4 Findthe primitive of <% ‘ @
Q1. Logarithms and . . s | S
Exponential Functions /13 _ : / 3 ' :
| Q2. Areas and Integration - /16 l o /¢ —l " QUESTION 2:(16 MARKS)
-7 Qs Simpson’s Rule’and o o - a)  Find the area Betwéen the curve y=X%’, the x-axis and =
| Volume FE [ 211 g -l . The lines at x=-2 and x=4, , )
Total ’ /4.’7‘[ 4//4// ‘




b)  Find the primitives of

) [ +32%)ax
'1.1.) [Gx-3ya
J' 2x ;
iif) x4
¢ - Find the value of:
‘Jf 1
i
p i
T dx
u) e 2x +3

d .
1) Sketch the graphs of y=x+1 and y=x" x-2,
Showing their point(s) of intersection.

i) Find the area enclosed by the graphs in (i).

QUESTION 3:(14 marks)

a) A glass is formed by rotating part of the curve 16y=x"
about the y-axis. The scales on both axes being 1em= 1 unit.
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@
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@
3

i) If the depth of water in the glass is h cm, show that
_  8zndh
the volume of wateris 3 ML, ) 3

i)  If the volume of water is 250mL, find h, correct to

one decimal place. §))
—— T
y=m(2%
b) 1) Copy and complete the table of values for I-x )
On your writing paper.
[0 [02 0.4 0.6 08 |
lo T 0.847 2.197 |

i) By using Simpson’s Rule with 5 function values, estimate the

08 )
| in( )y
area described by the integral ° 17¥ Give your answer
' correct to 2 significant figures, 2
. r\
yetn(tn 2
i) Prove that the derivativé of I-x" js 1-x €]

= ln(i"'J)

. y= v
v)  Show that - I-x" hasno statiopary points. - ¢))
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